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Class Period:
Precalculus - Unit 9 Day 2
Limits from Functions
Finding Limits Analytically
We have already seen that, in some cases, limits can be found by directly substituting a valuc into a

function, like the examples below. can I PIU. in ~+he +

and -find 4-he answer ?
Ex9: S
(@ lim3x*-2= 3(-4)*-2 = Y4, b lm(-8)= —&
(c) lim —4x +x* -Tx+2= (d  lim J5-2x= 7
—L a *H(Q)3+(2)2—7(Q)+2_—.-—L,0 |
But what happens when direct substitution DOES NOT AWORK:!!122?
3e+ o zeroin-+he denominataer
Ex 10:
1 fD)
(a) lun" =0 = (XH_IXX/M/) = Xt+H (b) lim =L = = (B
—+4 x— 4 ﬂ x-1 \j_

O 45 gl B (x2+f>(><+0(x/ﬁ

© tim ;X‘JM 2= (X_Q-Xﬁ—fg) (d lim Vx+s (Vx-5)
x‘j9<\/;—3 ‘JY'F 8) Xt 9,{— 3\[—*&} 125 ¥ —25 (R—SD |
= (%7 _ x=25 Ly

D02 =002 = g s
=+q+3=( DNE
¥iT may not werk
and, in case,

check 4#'s around i+

Scanned with CamScanner



Limits at Infinity VA Set genomfna'for& HA bo-':;fnhhe;\\/(); r;o
Ex1L W.‘ equel \I-:%

For the following functions, find lim f(x) and lim f(x). Then find any vertical or horizontal
asymptotes and any holes.

5(x+51)
=2x - -
@S & f(x)leszxfzo = xt5 @ /)= ;. f; ng-:‘?
(x+9Y(x+5) 5
lim f(x) = 09 lim f(x) = O Jim f(x)
Jm f() = ©0 Jim (=0 Jim_ )
h0|€@ x:—_Lf VA@Xz_-z—or"LI.S
x="5 o -
H\/ﬁ@@y:o HA@Y—%Of ,-5
Ex 12 (Mixed Review):
lim(3x~7)= i 95 42 _ xP(ax’-4 b3 21120
3(2)3_7-_- |7 0 7x8 = 3%’ 3(7x3- 3) o 14x% —11x+354

7x*-3  7(0)’-3 3

Ex 13 (Mixed Revie

[Using the graph on the right, find the indicated limits.

a. lixg_ f(x)= —0cQ b. lin; f(x)= o0
c. l‘i_lgf(x)= -l d. ]irgl_f(x)z -
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